S for the Campagt :

e ¥V undermine attempts to formulats an

e .int._e_i:pr;e#:«ati*dg- o

administrative

~excess flow at gage
~reservolirs fill to
maximum volume
~minimum demand for

water

~-minimal water at gage

-reservoirs release storage . . .

~maximim demand for water

Corrected
Exhibit V
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The hydrology and ﬁxstlnct water snpply/demand

_____ cteristlcs of the r151ng and falling llmbs are responszble

ng problem which dictate that each limb of the

oh be apgertxoned:segarately according to Article V.

If ‘each Timb is not apyortlonea separately, the article v

.5:"}ca_cu1at10n would have the effect of dividing flow at the

 f_Jﬂan5tream,gage for use upstream at a later date, This is a

- pﬁjsiéal impossibility. Secondly, (A) and (B) should be

””jappertioneﬁ separately so that each state may quantify that

frig ﬁioﬁ'after the given date. Plow apportioned &urlng {a),_

\AiC that water which has been stored will not be re-apportlone& g

ter the given date. leewise, Post-1950 diversions satxsfled

-from water apportioned before the given date, are not 1ncluded 1n f

_the apportionment after this date.

Cancept&ally;a:tlcle v nndermines attempts to prepare an.
-“.Tmadeqnate water budget because, it confﬂses the apportionment by
imlxlng together two "klnds" of water = a»depletable flow and a
diverted flow, Depletable flow is water whlch is physxcally |
available "in the bucket"., The diverted flow (or divertable flow _i

equivalent), is a measure of how many times water in the bucket.
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could be used and rééééﬁ* Mixing these . tworklnds of water

together confuses units, whlch makes balancinq a waker buﬁgat o

,nearly 1m90331ble._ In order for the apporticnment,formula 1n

Article V to work' properly, the water buﬁget requires us to u

~szm11ar units. The anly way to-balance kthe Article v water

“baﬁget is to convert all depletien values to their dlvertable N
flow equivalents. Conversely, dzveztable flcw egquivalents coul
be converted back to depletable flows when it is necessary to.

calculate the quantity of water to be released from storage.
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_DEPLETABLE FLOW. &

'”ERTABLE FLOW

) flow at the
downstream gage

*ﬁifyost~1958 aiver51o
in MT T

b post-1650 diversion

aﬁﬂﬁaﬁergphysically:
tS e

A measure of how thlS
water is used and

revised.
T8 Seed

1 Onit

 SUBTOTAL 1.99999 Un

NT

1.26? 40%

ARTICLE

"//.:_;41

V

Foocoes]
2.99991 WY -
mUNITS™ 60% — 1.79?

o How do we convert a depletion or depletable flow to its

élvertable flow equivalent?
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oretical and pract

_:h to manth and from basin to basin, but still. h_n

ffect of changlng the 1nflow to a specific node to a

_;ertable flow equlvalent" as the use and re-use of water 1533

'_accﬂunted for thraugh that particulax node,

ater commzssmoners in Wyoming are respensibie for releas

o fter from\reservoxrs on regulated streams to meet ﬂownstream

':aemands._ The quantity of water released from storage is:;gg

al to the sum of the 1nd;v1dual diversions for any specxfac;

Maliﬁﬁlumé in storage.) The deeisiqﬁ,qn-what,quéntity_ﬁfi

”:ﬂgdrﬁiriéiVéﬁd error. Purtbermore, computers could be pragrammeﬁ_
-to alé xn the dec151on maklng process, especially on larger

stxeams;




e

Calculation of divertable flow equivalent conversion factors:

 Problem: Assuming a 50% return flow, determine the

le;flcw e@ui&alent of 1 unit of stored water.

3. [}nit = 1+ 0.5 + _3-'.325 + 0.125 + 0.0625 .‘ .

which mathematically can be expressed as

Xz %
[ 1 + Limit > (.50) 1= 2.0 units

_....“.:}.c;ﬁ

{(divertable flow

eguivalent)

Return Flow : Divertable

22
o
o

[4a]

}i!'-"! »X»
50% [1 + LimitZ (.50) 1
i i R

: ot .
33 1/3% 1+ Limit$(.333) 1 v 1.50
25% [1 + Limit$ .25y 1 o 1.33

Rl o vy H
% b e e S S S S S A S S0
Xt <€ "

-10% 1+ imit> 100 1 4 1.11

S oo % .
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Assuming an averaggfﬁéturn-fieWﬂo£T25%-

<53

.33

oY UMiTs
+(.39

DIVERTABLE FLOW

EQUIVALENT

__ {1& Be consistent with units. Do all calculations with actua@f-i ”HT

- diversions, 6r divertable flow equivalents.

" (2) Break the hydrograph into two parts. Calculate a rising

'fiihb and falling limb apportionment. Storage from the rising

. limb will supplement irrigation during the falling liwb.

-{3) For the rising limb, quantify the storage limit based on the
total flow at the gage, total post-1950 changes in storage, and-
total post-1950 wakter use from Oct 1 to the end of the rising

linmb.
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(4) Post-1950 uses on t

satisfied from storage

_the falling limb. That is:

sions. for article

allocation.

i

'Total_pps£;195§

jdiversions

| diversions;

?falling iimﬁﬁéiﬁg of the hydrograph .

o hot enter the Atticle V allocation for

——

-Divertahlgff

| equivalent.

released f;bﬁ
'storagé to
satisfy'#ﬁé
gogt—IQSQ‘

e
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